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 BBYCT-133  

BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

December, 2022 

BBYCT-133 : PLANT ECOLOGY AND TAXONOMY 

Time : 2 hours Maximum Marks : 50 

Note : Attempt any five questions. Draw neat and  

well-labelled diagrams, wherever necessary. 

 

1. Define any five of the following : 52=10 

(a) Paleoecology  

(b) Ecotone 

(c) Hydrosphere  

(d) Heterotrophs  

(e) Mutualism   

(f) Cation exchange capacity 

(g) Physiognomy  

(h) Trophic levels 
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2. Make neat and well-labelled diagrams of any two 

of the following : 25=10 

(a) Flow of nitrogen through the environment 

(b) Herbage cover and basal area  

(c) Stages of succession on a bare rock 

(d) Different types of precipitation  

3. With the help of well-labelled diagrams, write a 

detailed account on any one of the following : 10 

(a) Soil profile  

(b) Food web in a grassland  

4. (a) List the objectives of plant taxonomy. 

Describe plant taxonomy in ancient India. 5 

(b) Describe the construction and use of a 

taxonomic key. List types of keys and 

discuss the faults and limitations of each.  5 

5. (a) Discuss how evidence from Phytochemistry 

can help in solving problem of plant 

taxonomy by citing an example.  5 

(b) Explain the concept of taxonomic hierarchy 

and arrange various categories from highest 

to lowest.  5 

6. (a) List types of classification and discuss any 

one of them along with its merits and 

demerits.  5 

(b) Explain species concept.  5 
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7. Write short notes on any four of the  

following : 42
2

1
=10 

(a) Royal Botanic Gardens, Kew  

(b) Monograph or Manual  

(c) Edge-punched card  

(d) Scientific names and their advantages  

(e) OTU (Operational Taxonomic Unit) 
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 ~r.~r.dmB©.gr.Q>r.-133  

{dkmZ ñZmVH$ (gm_mÝ`) 
(~r.Eg.gr.Or.) 

gÌm§V narjm 

{Xgå~a,  2022 

~r.~r.dmB©.gr.Q>r.-133 : nmXn nm[apñW{VH$s Ed§ d{J©H$s 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & Ohm± Amdí`H$ hmo, ñdÀN> 

VWm gwZm_m§{H$V {MÌ ~ZmBE & 
 

1. {ZåZ{b{IV _| go {H$Ýht nm±M  H$mo n[a^m{fV H$s{OE : 52=10 

(H$) n¡{b`moBH$mobm°Or  

(I) BH$moQ>moZ  

(J) Ob_§S>b 

(K) hoQ>oamoQ´>moâg 

(L>) nmañn[aH$Vm  

(M) YZm`Z {d{Z_` j_Vm  

(N>) {\${O`mo½Zmo_r  

(O) nmofH$ ñVa|   
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2. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ñdÀN> VWm Zm_m§{H$V {MÌ 
~ZmBE : 25=10 

(H$) n`m©daU Ho$ _mÜ`_ Ûmam ZmBQ´>moOZ H$m àdmh  

(I) Kmg/emH$ H$da VWm ~ogb joÌ 

(J) AZmd¥V MÅ>mZ na AZwH«$_U Ho$ {d{^Þ MaU 

(K) {d{^Þ àH$ma H$s dfm©  

3. {ZåZ{b{IV _| go {H$gr EH$  na gwZm_m§{H$V {MÌm| H$s 
ghm`Vm go {dñVma go MMm© H$s{OE : 10 

(H$) {_Å>r H$s ê$naoIm  

(I) Kmg Ho$ _¡XmZ _| ImÚ do~ 

4. (H$) nmXn d{J©H$s Ho$ CÔoí`m| H$mo gyMr~Õ H$s{OE & àmMrZ 
^maV _| nmXn d{J©H$s H$m dU©Z H$s{OE &  5 

(I) EH$ d{J©H$s` Hw§$Or H$s aMZm Am¡a Cn`moJ H$m dU©Z 
H$s{OE & Hw§${O`m| Ho$ àH$mam| H$mo gyMr~Õ H$s{OE Am¡a 
BZ_| go àË`oH$ H$s H${_`m| Am¡a gr_mAm| H$s MMm© 
H$s{OE & 5 

5. (H$) CXmhaU XoH$a {ddoMZm H$s{OE {H$ {H$g àH$ma nmXn 
agm`Z {dkmZ go gmú` nmXn d{J©H$s H$s g_ñ`m 
gwbPmZo _| ghm`H$ hmo gH$Vo h¢ & 5 

(I) d{J©H$s` nXmZwH«$_ H$s g§H$ënZm H$mo g_PmBE Am¡a 
{d{^Þ lo{U`m| H$mo CƒV_ go {ZåZV_ _| ì`dpñWV 
H$s{OE &  5 

6. (H$) dJuH$aU Ho$ àH$mam| H$s gyMr ~ZmBE Am¡a BZ_| go 
{H$gr EH$ H$s CgHo$ bm^m| Am¡a H${_`m| Ho$ gmW 
{ddoMZm H$s{OE &  5 

(I) àOm{V H$s g§H$ënZm H$mo g_PmBE &  5 
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7. {ZåZ{b{IV _| go {H$Ýht Mma na g§{já {Q>ßn{U`m±  

{b{IE : 42
2

1
=10 

(H$) am°`b dmZñn{VH$ CÚmZ, Š`y  

(I) _moZmoJ«m\$ AWdm _¡ZwAb  

(J) {H$Zmao na {N>{ÐV H$mS>©  

(K) d¡km{ZH$ Zm_ Am¡a CZHo$ bm^ 

(L>) OTU (Am°naoeZb Q>oŠgmoZmo{_H$ `y{ZQ>)  

 


